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QUESTION 1

Which action is only available for the "Performs any operation" and "Performs any API Operation" operation attempts? 

A. Bypass 

B. Allow and Log 

C. Runs or is Running 

D. Allow 

Correct Answer: A 

Reference: https://www.google.com/url?
sa=tandrct=jandq=andesrc=sandsource=webandcd=andved=2ahUKEwjClN7SwoXvAhViqnEKHbXpChU
QFjAAegQIARADandurl=https%3A%2F%2Fcommunity.carbonblack.com%2Fgbouw27325%2Fattachments % 2F gbou
w27325%2Fproduct-docs-news%2F1413%2F3%2Fcbduserguide.pdfandusg=AOvVaw1CU0_RmjfwbwAh68IuEKAd
(90) 

 

QUESTION 2

Which statement should be used when constructing queries in Carbon Black Audit and Remediation, Live Query? 

A. ALTER 

B. UPDATE 

C. REMOVE 

D. SELECT 

Correct Answer: D 

 

 

QUESTION 3

An administrator is creating a query per policy for Audit and Remediation. The administrator ran several recommended
queries already but notices they are unable to run the same recommended query for one of their policies. The run
button is grayed out. 

Which statement correctly explains why the run button is unavailable? 

A. The sensors in the policy do not support the table or query. 

B. The administrator needs the use live query permission. 

C. The number of consecutive running queries is limited. 

D. The query or table is not supported within osquery. 
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Correct Answer: B 

 

 

QUESTION 4

Which actions are available for Permissions? 

A. Approve, Upload, No Upload 

B. Deny Operation, Terminate Process 

C. Allow, Allow and Log, Bypass 

D. Performs any Operation, Runs or is running 

Correct Answer: C  

 

QUESTION 5

A process is writing numerous interesting files that never actually execute. 

Which rule type can the administrator define that will prevent reporting these file creations? 

A. Performance Optimization 

B. File Creation Control (Suppress) 

C. Expert (Tag Process, Terminate Process) 

D. Execute Ignore 

Correct Answer: A 
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